§90. 000OOOOOO

geUUUdsg8 0000 DbOODDODUOUOU0DODDbODbODs 6000
Oboobobooobodoobooobossoooooooooboooobo
oobooboobobotobobobodboobuooboobuooboo
oodobboboooooobbooooooo

goboobbooboobgoobouobooobooboobboon
oobooboobobotobobobodboobuooboobuooboo
goooobobod

goboobbooboobgoobouobooobooboobboon
(CooboO)yooooobobb®eUbDODbOOOOOOUOODLODOO
gobogboobobouboobgubooboobooobooboo
oogdobbboooouooobooooobboboo

§9.1 10000@OOCOOOO)YDOOODOODOODOODOOO
goboomotbilgbboobooboobmoboobooobn
goooiitibbbbbooooooobbobbodoada
goboobbooboobgoobouobooobooboobboon
oodobboooouobobobooog

oobD f,x)olbllDb O E0 00D pgb SOb0O0D0ooboboon
ODOxOOooooootobobbboooooooobut,x)ood o,(tx)
ooooooon

p—-=-f for 0<x<xg (9.1.2)

O00000x=000000000x=+c0000000000X=4c[]
OO0000o0D0O0Ox=000000000000000000O0O0DOOOOO
0fO00000000000000000e“ 000000000000

0000000i0Y-1000000000000000000000
Kelvin O O [K]O

g—u:éax for 0 <x<x; (9.1.2)
X

266



Dirichlet O O [D]O

do,

=-k’Eu for 0 <x<x; (9.1.3a)
dx
0,(0)=0 (9.1.3b)
0, (x5) = —iKEu(xS) + 2ikEA ™ (9.1.3¢)

00000000000 k=p/EwDO0O0DO00D0O0O0DOO0DOO
c=w/k=E/p0000x00000000000D00000O0OA'DO
00000000000©.1.3c)00000ul
u=A'e™+aje™ asx - o (9.1.4)

D0000000000000a000000000000000000
OO (local wave)D OO0 OO0 D0(9.1.400000000(9.1.3c)00000
000000000000(9.1.3c)0000000 Sommerfeld0 0000
0000000000000 000DO0O0OIsshiki-Sommerfeld 00 00O
ooooooo

KelvinO0OODOO Dirichlet 00 0000000000000 O000OO
D0000O00 KelvinOOOODOO DirichletOODODO0OODOO0OOOO
0000000000000 000000000000
000000000000 000000000000Kelvin 00 [K]O
0000000 ODirichlet D0[E]DO0O0DDOOODOOODOOOOO
D0D000O0OO0OKelvinOO[K]DOOODODOOODirichlet OO [D]O0 OO
0000000000000 000000000000000000000
000000000000000000000000000000000
00000000000 0000000000000000000
Dirichlet D0 [D]000O000O00ODO d0, 00000

0-—1 Bd——Ea BSU dx

_1 x doa, .o . .
_EJ; axéoxdx+J;) u o dx —u(x5)d0, (X5) +u(0)do, (0)

1 x5 . N N
:EIO axdoxdx—szJ; ududx + ikEu(x3 ) du(xg)
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:55&J’0X50X2dx—k27|5‘[:5uzdx+%E[u(xg)]2§ (9.1.5)

Oooobooogb@ir2ooeA3)uoboboooooboooogn
odd

N lo,,ul :%f’ axzdx—szEanuzdx +%E[u(xg)]2 = stationary

under [D] (9.1.6)
OOoOob0oO0oooboooboboooboboooooooDOog Kelvin DD O
OO00DDOOO0OO0O0O0O0O00OIsshiki-Sommerfeld-Kelvin OO O0O0OOO
DOoog@e.150 00000000 ibKelvin OO KD DO
00

D0o0oobbobbobbO0dlLagrangel D00 AODDOOODOO
DirichletO D [D]DDODDOO0OO0OOOOOOODOOO

rl'ISKD[O-x’LLA]: M [0, u]

+IX5)‘E%+k2Eu EdX+)\(0)Ux(0)
0 gdx O

-A(x3)[o, (x5) +ikEu(x3) - ZikEA+eikx5]

= stationary (9.1.7)
OoO00O0O0O0000000an

1

0= Mg = f .50, dx - k°E f’ ududx +iKEU(x:) Su(x2)

+IX5)\E%+k2E5u Hix + A(0) 50, (0)
0O dx O
= A(X5)[00, (x5) +iKEAU(x5)]

+IX5 5)\5% +K?Eu Hix + 0A(0)o, (0)
0 ] dx O

- A(x3)[o, (x3) +iKEu(xS) - 2IKEA"e™* ]

=’ g;_i - éax éboxdx +pw? [ (2 ~u) dud

+ikEu(xg)au(xg) +A(x5) 00, (x5) —A(0)da, (0) + A(0) oo, (0)

268



= A(%5)[30, (x5) +IKEAU(Xo)]

+IX5 5,\Ef& +K?Eutix + 0A(0)a, (0)
0 ] dx O

- A(x)[o, (x3) +ikEu(x3) - 2ikEA"e" ]

=’ g:j_i —éax éboxdx HCE [ (4 -u) dud

—iKE[A(XS) —u(x2)]du(xd)

+J'x5 5/\5% +K2Eu i+ oA(0)a, (0)
0 gdx O

— (X))o, (x5) +iKEu(xS) — 2ikEATe™°] (9.1.8)

ooooobel7noooooooooobooboo
Kelvin O O [K*]O

A=u for 0<x<x] (9.1.9a)
%—lax for 0 <x<xg (9.1.9b)
dx
A(x3) = u(xy) (9.1.90)
Dirichlet O O [D]O
do, =-k’Eu for 0<x<x (9.1.3a)
dx ©
0,(0)=0 (9.1.3b)
0, (x5) = —IkEu(xS) + 2ikEA ™ (9.1.3c)

Dododgoe@le) iU dUdKelvin OO [K]JEOODO

goooon
Glr7noooobobobbboogo

Mo [0,, U] = Mg o, U, )‘]|A:u

+ 2 xS i N
:%J’OOGXde_kTEL ude+%E[u(X0)]2
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0 U] dx 0
—u(x3)[0, (x5) +ikEu(xg) - 2ikEATe™S ]

:—anér;—i T de+—I u dx+—E[u(xo)]
+ U(XS )ax (XO) - U(O)UX (O) + u(o)ax (O)

—u(x)[o, (x5) +iKEu(xS) — 2ikEATe™® ]
= I Ed—a ~5g de J’° udx - E[u(xg)]2

+ 2ikEA*e™ou(x?)

= stationary (9.1.10)
O000000000000000 Hellinger-Reissner0 0000000
O0000000000 Isshiki-Sommerfeld-Kelvin-Dirichlet O 0O 0 0O O
HEN

@.1100 000000000 0KelvinOO [K]JODOOOOO

Msplul =N golo,, u]|under[D]

- _ E Xo&

kEo

2dx — E[u(xg )]2

+ 2ikEATe™u(xy)

= stationary (9.1.11)
O0000000000D0DoDoOoOOO0000ooooooooooood
Dirichlet 0 O 0O O O O O O O O O 0O O O O O
Isshiki-Sommerfeld-Dirichlet 00 00000000 O0OOOOOOOOO
Oooooood

0=0a1,, =- EIXOd—u@dx+k EI u5udx iKEu(xg)au(xg)
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+ 2ikEA ™ du(x.)

:f%

—[Eu'(x3) +iKEU(x.) — 2ikEA"e™ Jou(xS) (9.1.12)

d2U 2 '
v +k“Eududx + Eu’(0)u(0)

OooooboooooeLrmooooooooooo

d’u ,_
E—— +k’Eu=0 (9.1.13a)
dx
Eu'(0)=0 (9.1.13b)
Eu'(x5) = —iKEu(xS) + 2ikEA*e™o (9.1.13c)

OO0D0O00MMDODDKelvinO O [K]DOUOUOUOo, 00000 Dirichlet
OO[p]joood

O000oooDoooooooooodon isshiki-Sommerfeld O O O
001300000 fdfdoooooooooooboooooooon
0000 x=x,00000000000000D00000OO0OO0ODO0OO
Ox=x,0000000000000000000000O00OODO0OO
OO0000o0ooo00o000ooooooOooooooooOogooan(9.1.3cd
goooog

u= A+eikx +age—ik

X

at x = xg (9.1.14)
0o oooooogoooooooooo
o014 00xO000o0ooooooooooooooooooo
0000000000000 00x=x;000000000000000
00000000 0000000000000 00000D0O0O0ODO0O0O
Ooooe1r4)odxoooooooooooono
o, =ikEA"e™ —ikEaje™ at x =x; (9.1.15)

oooooooooood

0000011400 x=x, 0000 Kelvin 00[K]JDODOOO0OOO
(9.1.15)00 x=x;, O0O0OO DirichletO O [D]CO00OO0OO0OOCODOOOOO
OO00000O0OIsshikiDOOOOOOOOOoOoOooOoo

0odboooooooooobood
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Kelvin 0 O [K,]O

d—u=£aX for 0 <x<xg (9.1.16a)
dx E
u(xg) = ATe™e +a eo (9.1.16b)

Dirichlet O O [D,] U

d;(x =-k’Eu for 0<x<x} (9.1.17a)

0,(0)=0 (9.1.17b)

o, (x5) = ikEA*e™® —ikEa e ™ (9.1.17c)
0000000

DDDDDDiriChletDD[Dl]DDDDDDDDDD5OXDDDDD
0=- ~ o, 0dx+[ux Ateo —g* "kx°]50
[ B g o o) - x

490, 1y —u(x)da.(x) +u(0)30. (0)

__I 0,00 dx+IX+u
+U(Xo)50 (XO)+|. A'e ko _ at —|kx0 J( IkE5a+e—|kxo)
=%IOX6 ax50xdx—k2EJ:g’u5udx

+ikEA*da; +ikEe ™ o a da;

U1

+ 2 XS - .
= Jﬁﬁ)oaxzdx—kTEL uzdx+%E[u(xo)]2

IKE
+ —
2

Ooooobooooo@e.lis)d@lly7)yDboooobooooooooo
godd

+ 2 X(;
Alo,,u,aj]= %LO o ‘dx —kTEL uZdx

e 2 (a)? + ikEA+ag§ (9.1.18)
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+Ik7E e (a})? +ikEA*a; = stationary

under [D,]
(9.1.19)
OO0000o0oooOo00o000oooooo0ooooDoD Kelvin OO0
OO00000O0O0O0O0O0O00Ilsshiki-Kelvin OO 000000 O0O0O0O0O
0.118) 0000000 Db00b0b0O0bDb0dOKelvinDO[K,JODODOO

ODo00dbbbooboooobbOOLagrange0 0000 AOOODDOO
DirichletO O [D,JO0O00O0OOOOOOOOO0O

A’IKD[O-x’u’ag’)\] :/\lK[Ux'u'ag]

+IxéAB"&+kZEude+A(0)ox(O)
o dx W

~ A0, (x5) ~KEA'e™ +ikEage ™ ]

= stationary (9.1.20)
Oo0o0oooooooooog

0=3M!, = éfo“ 0,80,dx ~K*E [ uduudx

+ikEe ™ a; da; +ikEA*da;
+J'X5AE5UX +k2Edu de+A(0)50X(O)
0 dx i
—A(x3)[00, (x5) + ikE5age‘"<X5 N
+ng 5AE[_jUx +k2Eu de +0A(0)a  (0)
0 ] dx 0
- SA(X)[0, (x5) — KEA'e"™ +ikEage "]
x5 A 1 "
i -Z0, 00,dx—k*E["° (A —u)dudx
b E[;_x E Xéb X [, @A-u

— ikEe o [)\(xg) — Ate™ —greiko ]5ag
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+IX5 5ABHU_X +K2Eu fix +0A(0)o, (0)
0 ] dx O

—3A(x)[0, (x5) —IKEATe™® +ikaje 9] (9.1.21)

Oooooo@ir0000000000o0oon
Kelvin O O [K,*]O

A=u for 0<x<x] (9.1.22a)
ﬂ——GX for 0 <x<xg (9.1.22b)
dt E

A(x3) = Ate™ +aje ™™o (9.1.22c)

Dirichlet O O [D,]1 0

djx =—k’Eu for 0<x<x} (9.1.17a)
X

c.(0)=0 (9.1.17b)
o (x5) = ikEA*e™s —jkEa e ™o (9.1.17¢)

Oo0DOoooooDbber19) 0000000000 dOKelvinD O [K,]

00o0ooooooO
(9.1.2000 00000000000

Aol 0,812 Nio [0, u,87 A
=Nlo,.u,a7]

o GF% 4 pwruix +u(0)a, (0)
o dx W

_U(Xg)l_UX(X(;)—ikEA+eikx5 +ikEage“kX5]
f BLU ——0 de+ I u?dx

—ikEe ™u(x)a; + 'kTEe‘Zikxa (a])?
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+ikEATe™u(x]) +ikEAa;

= stationary (9.1.23)
O000000000000000 Hellinger-Reissner0 0000000

00000000000 Isshiki-Kelvin-Dirichlet 0000000
(9.1.23) 00000000000 Kelvin 00[K,]JOOOOOO(9.1.16a)

gobgood

Nplu,ag] :AIKD[O-x,u’a'g

o, =Edu/dx

Exo kEo

2dx

e,

_ikEe_ikXSU(Xg)ao -2ikxg (ag)Z

+ikEATe™u(x]) +ikEAa;

= stationary (9.1.24)
0o oooooogoooooooooo
Dirichlet OO OOOOO0ODODOOOOOOOIsshiki-Dirichlet 0 0O 0O OO
OO00o0o0ooooooooooooooood

0=0\, =-E Ixc’g_i@dxw EI ° ududx

—ikEe ™ Ju(xZ)a; —ikEe ™u(x;)da; +ikEe ™ °a da;
+ikEA*e™ du(x}) +ikEA*da;

2
dl: 2 E&de
dx

+ Eu'(0)du(0)

—[Eu'(x$) —ikEA*e™S +ikEase ™™ 1ou(xy)

—ikEe ™S [u'(xS) - ATe™ —ale ™5 1da; (9.1.25)
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Ooo0DoDboooooeLrL2ooooooboboog

d?u

E— +k’Eu=0 (9.1.26a)
X

Eu'(0) =0 (9.1.26b)

u(x;) = Ate™e +a e o (9.1.26¢)

Eu'(x}) = ikEA"e™ —ikEaje ™ (9.1.26d)

000000000000(9.1.16a)000000,00000 Kelvin OO
[K,]J000000(9.1.16b)0 O Dirichlet 00 [D,]00 00
(9.1.11)0000(9.1.24)000000000000000000000
N00000000000000onO

Eu=A"e" +aje™ (9.1.27)
oooo

o, =Eu' =ikA*e™ —ikaje ™ (9.1.28)
Oooooooood

0=0,(0) = ikA* —ika; (9.1.29)
00

al = A* (9.1.30)

doooooooooooao
— A+ ik SikKy A pt _ + 1 , 1 4 O
Eu=A"(e"™ +e™)=2A" coskx = 2A —E(kx) +Z(kx) _E (9.1.31)

googod
Ooooe.1.1)y00oodooooooonoooboooooooooon
oobdbda,,(n=04---,N-))DOO0ODOOOO
N-1
Eu:nZJanxn for 0 <x<x{ (9.1.32)
gogbouomeliigouoooooa

X5 k2 x5 ik .
M olt] == | E‘%ﬁd“ﬂ (Evy* o~ % [euoe )|

+ 2ikEA*e™ Eu(x?)
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= stationary (9.1.33)
ooodddea,(n=01---N-)OOOO0OOOOOODDODOOOOOO

gobbgobgobooooNbob bbb ooboobonoo
k=40, N=6, x; =20, EA"=1.0000

No. X Re[Eu] Im[Eu] [Eu]

exact

1 0.0000 1.9175 -0.2154 2.0000
2 0.1000 1.7868 -0.2008 1.8421
3 0.2000 1.3265 -0.1490 1.3934
4 0.3000 0.6566 -0.0738 0.7247
5 0.4000 -0.0960 0.0108 -0.0584
6 0.5000 -0.8112 0.0911 -0.8323
7 0.6000 -1.3866 0.1558 -1.4748
8 0.7000 -1.7461 0.1962 -1.8844
9 0.8000 -1.8447 0.2073 -1.9966

10 0.9000 -1.6721 0.1879 -1.7935
11  1.0000 -1.2523 0.1407 -1.3073
12 1.1000 -0.6414 0.0721 -0.6147
13 1.2000 0.0779 -0.0088 0.1750
14 1.3000 0.8040 -0.0903 0.9370
15 1.4000 1.4272 -0.1604 1.5511
16 1.5000 1.8428 -0.2070 1.9203
17 1.6000 1.9673 -0.2210 1.9864
18 1.7000 1.7570 -0.1974 1.7388
19 1.8000 1.2296 -0.1382 1.2167
20 1.9000 0.4878 -0.0548 0.5025
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25

15 \
05

/

/i

-0.5

-15

-25

1 23 45 6 7 8 9 10111213 14 1516 17 18 19 20

\— Re[Eu] — Im[Eu]

[Eu]exact \

0 9.1.1 000 Re[Eu]+ilm[Eu]C O O [Eu]

exact

oooOe.lr24)oogoobboobooooouobbbbooooooo
O0000EB0D0(O.1.32)00000000000000a, 000000
gogdoobiolznpogoooon

EAplu,ag]= _%J:g B@g

Odx O

—ike ™™ Eu(x}) Ea; +

ik -2ikx§ +
Ee 2ik (EaO)Z

+ikEA*e™ Eu(x}) + ikEA*Ea;

= stationary

k? )
dx+7L (Eu)“dx

(9.1.34)

ooodddea,(n=01---N-)O0ODO0O0OOOOOODDODOOOOOO
ogboogboooooooNboooobobobouoouood
Q.133) 0o @irxs)iooooogoboooooobooogog

gdd

k=40, N=6, x, =20, EA*'=1.0000
Re[Ea;]=0.9996, Im[Ea;]=0.0298

No. X

1 0.0000
2 0.1000
3 0.2000
4 0.3000

Re[Eu]

1.9782
1.8434
1.3685
0.6774
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Im[Eu]
0.0294
0.0274
0.0204
0.0101

[Eu]
2.0000

exact

1.8421
1.3934
0.7247



5 0.4000 -0.0990 -0.0015 -0.0584
6 0.5000 -0.8368 -0.0125 -0.8323
7 0.6000 -1.4305 -0.0213 -1.4748
8 0.7000 -1.8014 -0.0268 -1.8844
9 0.8000 -1.9031 -0.0283 -1.9966
10 0.9000 -1.7251 -0.0257 -1.7935
11  1.0000 -1.2920 -0.0192 -1.3073
12 1.1000 -0.6617 -0.0098 -0.6147
13 1.2000 0.0804 0.0012 0.1750
14 1.3000 0.8295 0.0123 0.9370
15 1.4000 1.4724 0.0219 1.5511
16 1.5000 1.9011 0.0283 1.9203
17 1.6000 2.0296 0.0302 1.9864
18 1.7000 1.8127 0.0270 1.7388
19 1.8000 1.2685 0.0189 1.2167
20 1.9000 0.5032 0.0075 0.5025

25

15 PZEEN

05 . ‘ 4//

-05 /

-15 ~—_—

-25

123 456 7 8 91011121314151617 1819 20

Re[Eu]

Im[Eu]

[Eu]exact ‘

0 9.1.2 000 Re[Eu]+ilm[Eu]C O O [Eu]
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exact




